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ECONOMICS
(General )

_ Full Marks : 60
'fime : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following questions : 1x7=7
(a) Define equilibrium.
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(b) What is meant by cardinal utility
approach ?
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(c) What is Giffen Paradox ?
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(d) What is an expansion path ?
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(e) What is meant by economies of scale ?
R it 3w & geme
() What is bilateral monépdly?
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(g9 What is MRS ?
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Answer the following questions :  2x4=8
Y 2R Bex fmt o
(@) Show the distinction between static and
dynamic equilibrium.
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(b) Mention the two defects of Marshalllan
utility analys1s

(d) Show the distinction between risk and
uncertainty.
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Answer any three of the following

questions : 5x3=15
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(a) “Rent is & differéntial surplus.” Explain
the statement. -
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(bp) What is product differentiation ?‘
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(c) What is least cost factor combination ?
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d) Show the relatlonshlp g
@ Cost (AC) and Marginal Cost (MC).
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(¢ What is quasi-rent? " competition.
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4. Answer any three of the following
questions : 10x3=30
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(@) What is an indifference curve ? Show
the properties of an indifference curve.
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(b) Critically explain the uncertainty
bearing theory of profit.
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(c) Explain stable equilibrium and unstable
equilibrium with diagrams.
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' (d) How can you derive demand curve from
the price consumption curve ?
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() How are wages determined under
perfectly competitive market ?
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() How are price and output determined
under monopoly market ?
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